PL    -    MAT    -   4.B        Pamäťové sčítanie v obore do 10 000

	3 455 + 4 =
	8 808 + 1 =

	3 455 + 40 =
	8 808 + 10 =

	3 455 + 400 =
	8 808 + 100 =

	3 455 + 4 000 =
	8 808 + 1 000 =

	
	

	5 213 + 3 =
	1 562  + 7 =

	5 213 + 30 =
	1 562  + 70 =

	5 213 + 300 =
	1 562  + 700 =

	5 213 + 3 000 =
	1 562  + 7 000 =

	
	

	7 341 + 2 =
	2 660 + 1 =

	7 341 + 20 =
	2 660 + 10 =

	7 341 + 200 =
	2 660 + 100  =

	7 341 + 2 000 =
	2 660 + 1 000 =

	
	

	4 322 + 4 =
	3 546 + 4 =

	4 322 + 40 =
	3 546 + 40 =

	4 322 + 400 =
	3 546 + 400 =

	4 322 + 4 000 =
	3 546 + 4 000 =





















Porovnaj dané čísla!
	5 400
	
	8 112
	
	6 231
	
	1 254
	
	9 650

	9 310
	
	6 911
	
	7 852
	
	3 914
	
	3 913

	6 841
	
	8 721
	
	4 000
	
	7 566
	
	7 566

	4 983
	
	1 028
	
	8 208
	
	2 802
	
	3 894



